24

24 9 16 ( )



1 2 3 v/ D TR TD/TR | TD/M

V5 V5 1.00 10 2| 5.000 |5.000

2 V5 0.50 7 8| 0.875 |3.500

FS 0 3 0.00 3 10 0.300 |1.500
1 2 3 v/ D TR TD/TR | TD/M

2 1 0.00 3 10 0.300 |1.500

V5 V5 1.00 10 4| 2.500 |5.000

FS V5 2 0.50 7 6| 1.167 |3.500
1 2 3 v/ D TR TD/TR | TD/M

FS 0 0 0.00 0 10 0.000 |[0.000
V5 V5 1.00 10 1{10.000 |5.000

V5 1 0.50 6 5| 1.200 |3.000
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1 2 3 4 5 ffv{ v/m | TD|TR| TD/TR | TD/M
1 V5[VS5]V5]V5]4]1.00 | 20| 4]5.000 [5.000 3
2 3 V5[VS5]V5([3[0.75] 18 9]2.000 |4.500 8
3 1 3 V5 41]0.25 | 13] 19{0.684 |3.250 18
4 FS 0 1 4 V5]1[0.25 ] 10f 19]0.526 |2.500 20
S FS 0 0]V5 4 11 0.25 [ 9] 19{0.474 |2.250 21
1 2 3 4 5 ffv{ v/m | TD|TR| TD/TR | TD/M
1 ( 8 8 8 068|600 | 6] 20|06-6060 |0-0600 28
2 V5 2|1 V5]V5]3]0.75 | 17| 5]3.400 [4.250 7
3 V5]Vv4 V5([Vv5]4]1.00 | 19] 2]9.500 [4.750 2
4 V5 0 0 V5]2[0.50 | 10f 13]0.769 |2.500 15
S FS V5 1 0 3 11 0.25 [ 9] 15[0.600 |2.250 19
1 2 3 4 V| V/M [TD|TR| TD/TR | TD/M
1| OHME FC V5]V5]V5 31 1.00 | 15 O] o 5.000 1
2 0 V5]V5 2{0.67 | 10] 9]1.111 |3.333 12
3 0 0 2 0{0.00 | 2] 15]0.133 |0.667 26
4 FS 0 41V5 11 0.33 [ 9] 12{0.750 | 3.000 17
1 2 3 4 5 ffv{ v/ | TD|TR| TD/TR | TD/M
1 FC 0 2 1 2 0] 0.00 | 5] 19]0.263 [1.250 25
2| OHME FC V5 V5[VS5]V5(f4f1.00 |20 6]3.333 |5.000 6
3 V5 2 V5 112]0.50 | 13[ 9]1.444 [3.250 13
4 V5 0 0 01]0.25 | 5] 16/0.313 [1.250 23
S V4 41VvV2(fVv5s 3[0.75 ] 15 8]1.875 |3.750 9
1 2 3 4 5 ffv{ v/m | TD|TR| TD/TR | TD/M
1 JFC V5[VS5]V5]V5]4]1.00 | 20| 4]5.000 [5.000 4
2 1 V5([v2]Vv4([3][0.75] 12| 13]0.923 |3.000 10
3 1 4 V3 01])0.25 | 8] 17]0.471 [?2.000 22
4 FS 2 1 2 1]0] 0.00 | 6] 15/0.400 [1.500 24
5| OHME FC 0 3]V5]V5 2{0.50 | 13| 10]1.300 |3.250 14
1 2 3 4 V| V/M [TD|TR| TD/TR | TD/M
1 V5]V5 0 2| 0.67 | 10] 5]2.000 |3.333 11
2 FC 0 0 0 0{0.00 | O] 15]0.000 |0.000 27
3 FS 1]V5 3 11 0.33 [ 9] 10{0.900 | 3.000 16
4 VA4]V5]V5 3[1.00 | 14] 3]4.667 |4.667 S
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2 3 4 V/M D TR TD/TR TD/M

V5 V5 V5 1.00 15 2 7.500 | 5.000

0 1 0.00 3 15( 0.200 | 1.000

V5 V5 0.67 10 6] 1.667 | 3.333

V5 1 0.33 6 11 0.545 | 2.000

2 3 V/M D TR TD/TR TD/M

FS V5 V5 1.00 10 5( 2.000 | 5.000
V5 0.50 9 7| 1.286 | 4.500

FS 2 0.00 3 10( 0.300 | 1.500
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17 18

1 2 3 4 5 V/M [ TD [ TR | TD/TR | TD/M
V5]V5]|V5]|V4 1.00 19 7| 2.714 | 4.750 2
JFC 1 V4 |V5]V5 0.75 15 8] 1.875 | 3.750 6
FS 0 1 3 1 0.00 5| 16 0.313 | 1.250 19
FS 3 2|V5 V5 0.50 15| 17 0.882 | 3.750 9
3 0|vz2 4 0.25 9] 15[ 0.600 | 2.250 15

1 2 3 4 5 V/M [ TD [ TR | TD/TR | TD/M
41V5]|VS5]|V5S 0.75 19 8] 2.375 | 4.750 4
V5 V5]V5]V5 1.00 20 7] 2.857 | 5.000 1
FS 0 1 V5]V5 0.50 11| 14 0.786 | 2.750 10
FS 1 2 1 V5 0.25 9] 17 0.529 [ 2.250 16
FS 2 0 3 2 0.00 7] 20f 0.350 [ 1.750 17

1 2 3 4 5 V/M [ TD [ TR | TD/TR | TD/M
FS 1 3 2 1 0.00 7] 20f 0.350 [ 1.750 18
FS V5 3 2 2 0.25 12| 16 0.750 | 3.000 14
FS V5]V5 V5 0 0.75 15| 15 1.000 | 3.750 8
V5]V5 4 V5 0.75 19] 12 1.583 | 4.750 7
OHME FC V5]V5]V5 3 0.75 18 8] 2.250 | 4.500 5

1 2 3 4 V/M [ TD [ TR | TD/TR | TD/M
FS 3 2|1V5 0.33 10| 14 0.714 | 3.333 13
FS V5 3 3 0.33 11| 12 0.917 | 3.667 11
V51Vi4 V5 1.00 14 6] 2.333 | 4.667 3
4 (V5 1 0.33 10| 13| 0.769 | 3.333 12
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1 2 3 4 V/M | TD | TR | TD/TR | TD/M

FS V5 4 (V5 0.67 14 8| 1.750 | 4.667
1 V5|V5 0.67 11| 10f 1.100 | 3.667

FS V5 4 V5 0.67 14 9] 1.556 | 4.667
FS 2 1 0 0.00 3| 15 0.200 | 1.000
1 2 3 4 V/M | TD | TR | TD/TR | TD/M

FS 1|V5(V5 0.67 11 5| 2.200 | 3.667
V5 V5|V5 1.00 15 1] 15.000 | 5.000

FS 0 0 V5 0.33 5| 12 0.417 | 1.667
FS 0 0 2 0.00 2| 15 0.133 | 0.667
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